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1° ®YAAO EPTAYIAY

AYKH>XH 1

I'paye dimha and kdbe Tpaén 1660 Kaver.

100 + 100 =200 100 + 50 =150
200 + 200 =400 350 + 50 =400
300 + 300 = 600 250 + 50 = 300
400 + 400 =800 700 + 50 =750
500 + 500 =1.000 450 + 50 =500
200 + 300 =500 600 + 50 =650

600 + 200 =800

950 + 50 =1.000

400 + 500 =900 500 + 50 =550
AYKHXH 2
I'paye dimha amd KaBe TpaEn mOGO KAveL.
200 - 100 =100 100 - 50 =50
400 - 200 =200 350 - 50 =300
500 - 300 =200 250 - 50 =200
1.000 - 400 =600 700 - 50 =650
800 - 500 =300 450 - 50 =400
300 - 200 =100 600 - 50 =550
1.000 - 200 =800 950 - 50 =900

900 - 500 =400

500 - 50 =450




AYKHYH 3

I'paye motog apBOpudg eivor Tpiv Ko To1og HETAL.

IPIN META
259 260 261
349 350 351
419 420 421
529 530 531




